LSPM

EXTENSION PLATFORM

MASTER SUPPORT

T0P_HOLD

LOKER HOLD

ADJUSTABLE STOPPER

CEILING PLATE

SCREW MB*L12MH

FASHER o1 /4" %(3*T1.6mm

oo |ca| N~

SCREW 1/4"-20UNC*L3/8"

SCREW M6*L95mm

ANTI STIP F32*D70*T3mm

END PLUC

ALLEN KEY

FASHER 95/16"*19

NUT M8

CRILING MOUTING BRACKET

EXTENSION SUPPORT

SCREW 5/16"*1-3/4"

NYLON NUT 5/16"-18UNC

SCREW 3/4"—(6UNF*L80MY

FASHER 93/4"*946°T2.5

BRAKE SCREW 1/4"*1/2"

NI PN P PO PO PO PN el e B 53 S RN I S N Bl BT BEN BN B




